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Q.1: 1 Lily disKell g ghodll Juiai Mark(s): 4/4

Which equation is graphed? Ly dliaal) Aaleal) La

Learning Outcomes Covered

o MAT.3.04.01.004

a.l
1, 1 ]
YTt T2ty
b.
1, 1 .1
7Y T2V
C.
y=4x>+8x+4
d.

x=4y*+1



Q.2: 1 lagins dglyl slaa) (nbdidll o pall 2L plaxiuwlg pagiod (odill o pall 2l sl Mark(s): 4/4

Use the dot product to find the cAaiall jlada alady Jhall) Gl asdic)

magnitude of the vector.
Learning Outcomes Covered

o MAT.3.13.01.005

50



Q.3: 1 Wlao)l Sgiwall (b lgxiall (e Sllos]l clylg Julod Mark(s): 4/4

Find the component form of AB Ahii (< Guas AB J LS 5y guall aagl
with initial point 4(9,2) and .B(—6,3) aulgi dadig A(9,2) anu

terminal point B(—6, 3).

Learning Outcomes Covered

o MAT.3.13.01.003

(15,—1)



Q.4: 14ugl> Bisg Uligiuanll plaziwl dubll SVsleoll dabiil J> sl Mark(s): 0/4

Determine the row operation & Jpanll gy alidl) o3 g;‘di ciall diles a3a
performed to obtain the matrix. .48 gdaal)
1 -1 1, 0 1 -1 1, 0
0 1 —2:-5] — |0 1 -2!-5
I
2 -3 51 8 0o -1 3, 8

Learning Outcomes Covered

o MAT.2.03.01.013

—2R; +R3

—2R4



Q.5: 1 3x3 dsgiunnllyg 2% 2 ddgaunall SlweSseg Ildazxo S| Mark(s): 4/4

Which of the following matrices is 53,3k AN Cldgaadl) 6

singular?

Learning Outcomes Covered

o MAT.2.03.01.016

a.
3 5
-2 -3
b.
85]
6 4
c.!
r4 2 1
i1-2 3 5
Le -1 —4
d.



Q.6: 1 Wilas¥l Sgiuwall e puibdi Gu ddluall Slx) Mark(s): 4/4

Find the distance between B(5,—5)3 A(=3,1) o ddlual) aagf
A(-3,1)and B(5,-5).

Learning Outcomes Covered

o MAT.3.04.01.002

32



Q.7: 1 8aslziall lgilSye ] Olgziall Julzig Slgziall Jilue J> Mark(s): 4/4

Jassim and his sister Badria are dula e Aoy aidly auls
pulling a wagon full of plants. Each Bol dupl) (addi IS Coan L liluilly
person pulls on the wagon with equal g dupall jena pa 30° E:.Jj}e Zym..
force at an angle of 30" with the axis 120 N daslil) 548l
of the wagon. The resultant force is Tlagia J€ Lgldy A 35l jlada La

120 N newtons.

How much force is each person

ol e

Learning Outcomes Covered

exerting?

o MAT.3.13.01.002

60N

240N



Find the coordinates of the AB dafival) dakadl) Chuaiie dadi  las) aagl
midpoint of AB if A(—6,3) and .B(—10,7)5A(—6,3) o<y
B(—10,7).

Learning Outcomes Covered

o MAT.3.04.01.001

(2, _2)

(4'1 _4)



Q.9: 1 L]l wd Mark(s): 4/4

_[-2 _ _ B 2] e
IfA_[3]andB—[3 ~-1 4], B=[3 -1 4]JA_[3]mu141
find AB if possible. OSal o) AB aagl

Learning Outcomes Covered

o MAT.2.03.01.005

a.

[9 -3 12]
6 2 -8
b.!

6 2 —8]
ilg -3 12
C.

6 9

2 -3

8 12
d.

dapa &

undefined



Q.10: 1 lgi¥slse (o dubgyrall gobdll 2oz Mark(s): 4/4

What is the graph of? o1 Al Sl La
18x* — 16y = 12x —4y* + 19
Learning Outcomes Covered

o MAT.3.04.01.012

5yila

circle

Aff) aded

hyperbola

g AlSa aded

parabola



Q11: 11 Gugl> Bi>g Olbbgaunall plaziwl ddazdl S¥aleall dadail J> sl Mark(s): 4/4

What is the augmented matrix for Callaill dacigal) ddg2aall La

the system?

4x+2y=6
—3x—-2y=—4

Learning Outcomes Covered

o MAT.2.03.01.013

o4 21 6
Pl-3-2 ) —4
b.
4-3, 6
22, —4
4 2
—3 —2
d.
=2 2



Q.12: 1 Gily yilgadl Juies Mark(s): 4/4

Find the center of the equation of Bydal) Aalaal JShal) angl
the circle.

x> +y2-8x=9
Learning Outcomes Covered

o MAT.3.04.01.006

(4,4)



Q.13: 1 3.l g gbos)l Vsl GUS Mark(s): 4/4

Which equation is graphed? Tlily dliaal) Aalaall La
Y=
= 16 °
. v
- L
M #
"\ 8 ’4"
:—1/113101%(_8(“. (‘{\/113,01
—16 |- O 16X
o (8, OL
71 —8 ™S
A‘. k..
E _16 r b
|V y=—px| |

Learning Outcomes Covered

o MAT.3.04.01.009

a.
2 2
X

Y 12 =4

64 49
b.

2 x2
AN
64 49

C.

2 2
X
2 ¥

64 49






Q.14: 1 )ilgaJl SVdlee GUS Mark(s): 4/4

Write an equation for the graph . J
ol Al Sl dlsle s aiS)
below. *

B
ol
Xy

Learning Outcomes Covered

o MAT.3.04.01.005

x*+(y—-2)72=4

x*+(y—-2)2=16



Q.15: 1 dasll g ghos)l OVolee IS Mark(s): 4/4

Write an equation of the ellipse dadll) aic 5)<ya Bl il dlalaa )
centered at (4, 1) if its minor axis is Johs cang 8 pudl) oy5na Jshs (4, 1)
8 units long and its major axis is 10 X Jsaall Ujlgag clang 10 ,sY o580

units long and parallel to the x—axis.

Learning Outcomes Covered

o MAT.3.04.01.007

(y—4)2+(x—1)2 _

25 16 =1
b.
x+4)?* (y+1*
25 + 16 =1
C.
(x—4)?* (y—1)> _ 4
25 16
d.
_4_2 _12
(x )+(y )_1




